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		  Common error is a grammatical term used in perspective 
grammar to describe an instance of faulty, unconventional, 

or controversial usage, such as a misplaced modifier or an 
inappropriate verb tense etc. is called a usage error.

Previous Years Questions of DSSSB Papers
	 1.	 Find the part of the given sentence that has 

an error in it. If there is no error, choose 
‘No error.’

		  The country (A)/expect us to (B)/do our 
duty (C)/No error (D)

		  (A)	 expect us to	 (B)	no error
		  (C)	 do our duty	 (D)	the country

[DSSSB (PRT) 15-11-2019 (izFke ikyh)]
	 1.	 (A)	 fodYi (A) esa expect us to dh txg 

expects us to dk iz;ksx gksuk pkfg,] 
D;ksafd okD; dk subject (drkZ) the 
countryµ singular gS vr% blds fy, 
verb Hkh singular iz;ksx dh tk;sxhA

	 2.	 Find the part of the given sentence that has 
an error in it. If there is no error, choose 
‘No error’.

		  Everybody admitted (A)/that she has (B)/
doing her best (C)/No error (D)

		  (A)	 doing her best
		  (B)	 that she has
		  (C)	 everybody admitted
		  (D)	 No error

[DSSSB (PRT) 15-11-2019 (izFke ikyh)]
	 2.	 (A)	 fodYi (A) esa ‘doing her best’ dh txg 

‘done her best’ dk iz;ksx gksxk D;ksafd 
have/has/had ds ckn verb dh third 
form dk iz;ksx fd;k tkrk gSA

	 3.	 Find the part of the given sentence that has 
an error in it. If there is no error. Choose 
‘No error’.

		  It is a pleasure (A)/to meet a (B)/ cheerful 
persons (C)/ No error (D)

		  (A)	 No error
		  (B)	 cheerful persons
		  (C)	 It is a pleasure
		  (D)	 to meet a

[DSSSB (PRT) 15-11-2019 (f}rh; ikyh)]
	 3.	 (B)	 fodYi (B) esa ‘cheerful persons’ dh 

txg cheerful person dk iz;ksx gksxk] 
D;ksafd mlds iwoZ (a) indefinite article 
dk iz;ksx gqvk tks fdlh ,d O;fDr ;k 
oLrq ds gksus dk cks/k djkrk gSA

	 4.	 Find the part of the given sentence that has 
an error in it. If there is no error, choose 

‘No error’.
		  She has (A)/not written the (B)/ message 

yet (C)/No error (D)
		  (A)	 She has
		  (B)	 not written the
		  (C)	 message yet
		  (D)	 No error

[DSSSB (PRT) 15-11-2019 (f}rh; ikyh)]
	 4.	 (D)	 okD; esa dksbZ Hkh ‘error’ ugha gSA

	 5.	 Find the part of the given sentence that has 
an error in it. If there is no error, choose 
‘No error’.

		  The editor (A) / gave him the deadline (B) 
/ for finish the work (C) / No error (D)

		  (A)	 The editor
		  (B)	 No error
		  (C)	 for finish the work
		  (D)	 gave him the deadline

[DSSSB (PRT) 14-11-2019 (izFke ikyh)]
	 5.	 (C)	 Part (C) esa for finish the work dh 

txg for finishing the work dk iz;ksx 
gksxk] D;ksafd preposition ds i'pkr~ 
gerund dk iz;ksx gksrk gS u fd verb 
dkA vr% fodYi (C) lgh gSA

	 6.	 Find the part of the given sentence that has 
an error in it. If there is no error, choose 
‘No error’.

		  This news is (A)/ too good (B)/ to be true 
(C)/ No error (D).

		  (A)	 No error	 (B)	too good
		  (C)	 to be true	 (D)	This news is

[DSSSB (PRT) 14-11-2019 (izFke ikyh)]
	 6.	 (A)	 No error.
	 7.	 Raj has hurt (A)/his ankle and will (B)/

not be able for play today (C)/No error 
(D).

		  (A)	 not be able for play today
		  (B)	 his ankle and will
		  (C)	 No error
		  (D)	 Raj has hur

[DSSSB (PRT) 14-11-2019 (f}rh; ikyh)]
	 7.	 (A)	 Part (A) not be able for play today 

dh txg ‘not be able to play today’ 
dk iz;ksx gksxk] D;ksafd able to do 

something (sth) dk rkRi;Z gSµdqN 
djus dh ;ksX;rk] 'kfDr vkfn gksukA 
vr% fodYi (A) lgh gSA

	 8.	 Find the part of the given sentence that has 
an errror in it. If there is no error, choose 
‘No error’.

		  Find himself (A)/in difficulty he (B)/went 
to his parents for help (C)/No error (D)

		  (A)	 No error
		  (B)	 went to his parents for help
		  (C)	 Find himself
		  (D)	 in difficulty he

[DSSSB (PRT) 14-11-2019 (f}rh; ikyh)]

	 8.	 (C)	 Part (C) e s a  ‘Find himself ’ dh 
txg Finding himself dk iz;k sx 
gksxkA	Eg. Finding himself with nine 
months to kill between school and 
university he cast round a job.

	 9.	 Find the part of the given sentence that has 
an error in it. If there is no error, choose 
‘No error’.

		  People always (A)/ admires a (B)/ 
courageous person (C)/ No error (D)

		  (A)	 Admires  a	
		  (B)	 Courageous person
		  (C)	 People always
		  (D)	 No error

[DSSSB (PRT) 13-11-2019 (izFke ikyh)]

	 9.	 (A)	 Part (A) eas ‘admires a’ dh txg 
admire dk iz;ksx gksxk] D;kasfd People 
(more than one person) ,d ls vfèkd 
O;fDr ds fy, iz;qDr gksrk gSA vr% ;s 
Plural in number gS rks verb Hkh blds 
lkFk Plural Number dh iz;ksx gksxhA          	
Eg. How many people are coming 
to the party.

	 10.	 Find the part of the given sentence that has 
an error in it. If there is no error, choose 
‘No error.’

		  The young soldier (A)/ was brought (B)/ 
before a king (C)/ No error (D)

		  (A)	 the young soldier
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		  (B)	 was brought
		  (C)	 before a king
		  (D)	 No error

[DSSSB (PRT) 13-11-2019 (izFke ikyh)]
	 10.	 (C)	 Part (C) eas before a king dh txg 

before the king dk iz;ksx gksxkA okD; 
eas Article lcU/kh =qfV gSA vr% fodYi 
(C) lgh gSA

	11.	 Find the part of the given sentence that has 
an error in it. If there is no error, choose 
‘No error’.

		  Miss Singh (A) / was rudely at (B) / the 
table one day (C) / No error (D)

		  (A)	 was rudely at
		  (B)	 Miss Singh
		  (C)	 No error
		  (D)	 the table one day.

[DSSSB (PRT) 13-11-2019 (izFke ikyh)]
	 11.	 (A)	 Part (A) esa rudely dh txg rude dk 

iz;ksx gksxk] D;ksafd verb (fØ;k) to be ds 
i'pkr~ noun ;k adjective  dk iz;ksx 
gksrk gS u fd adverb dkA

	12.	 Find the part of the given sentence that has 
an error in it. If there is no error, choose 
‘No error’.

		  The railway company (A) / forbid 
passengers (B) / to cross the line (C) / No 
error (D) 

		  (A)	 The railway company
		  (B)	 No error
		  (C)	 to cross the line 
		  (D)	 forbid passengers

[DSSSB (PRT) 13-11-2019 (f}rh; ikyh)]
	 12.	 (D)	 Part (D) esa Forbid passengers dh 

txg forbids passengers dk iz;ksx 
gksxk] D;ksafd okD; dk subject the 
railway company ,d singular 
subject gSA vr% okD; Singular 
subject-singular verb ds structure 
ij vk/kkfjr gSA

	13.	 Find the part of the given sentence that has 
an error in it. If there is no error, choose 
‘No error’.

		  War was (A)/declared against (B)/
Germany by England (C)/No error (D).

		  (A)	 War was
		  (B)	 No error
		  (C)	 Germany by England
		  (D)	 Declared against

[DSSSB (PRT) 13-11-2019 (f}rh; ikyh)]
	 13.	 (B)	 No error.
	14.	 Find the part of the given sentence that has 

an error in it. If there is no error, choose 
‘No error’.

		  A greedy person (A) /is like a man (B) /
possessed by the devil (C)/No error (D) 

		  (A)	 No error
		  (B)	 is like a man
		  (C)	 A greedy person
		  (D)	 Possessed by the devil

[DSSSB (PRT) 11-11-2019 (izFke ikyh)]
	 14.	 (A)	 No error.
	 15.	 Find the part of the given sentence that has 

an error in it. If there is no error, choose 
‘No error’.

		  How amused everyone (A)/would be if 
they (B)/knows what really happened (C)/
No error (D) 

		  (A)	 knows what really happened 
		  (B)	 How amused everyone
		  (C)	 No error
		  (D)	 would be if they

[DSSSB (PRT) 11-11-2019 (izFke ikyh)]
	 15.	 (A)	 fodYi (A) esa]	

knows what really happened dh txg 
knew what really happened  dk 
iz;ksx gksxk] D;ksafd okD; unfulfilled 
condition of present gSA ,sls okD;ksa 
ds nks Part gksrs gSaA ,d Part esa If 
clause vkrk gS vkSj blls Condition 
('krZ) dk cks/k gksrk gS ftldh iwfrZ dh 
laHkkouk izk;% laHko ughaA okD; ds nwljs 
Hkkx (Part) ls ifj.kke (Result) dk 
cks/k gksrk gS tks fd laHko ugha gSA lcls  
egRoiw.kZ ckr ;g gS fd ,sls okD;ksa 
esa nksuksa Clauses (miokD;ksa) esa Past 
indefinite vFkkZr~ simple past dh Verb 
(V2) dk iz;ksx fd;k tkrk gSA vr% lgh 
fodYi (A) gSA

	16.	 Find the part of the given sentence that has 
an error in it. If there is no error, choose 
‘No error’.

		  She will finish (A)/ the work in (B)/ along 
a week (C)/ No error (D)

		  (A)	 the work in	 (B)	along a week
		  (C)	 She will finish.	(D)	No error

[DSSSB (PRT) 11-11-2019 (f}rh; ikyh)]
	 16.	 (B)	 Part (B) esa along a week dh txg a 

week dk iz;ksx gksxkA along dk iz;ksx 
vuko';d gSA Along dk vFkZ gSµ,d 
Nksj ls nwljs Nksj rd ;k ds lkFk-lkFkA 
vr% fodYi (B) lgh gSA

	 17. 	Find the part of the given sentence that has 
an error in it. If there is no error, choose 
‘No error’

		  A poor blind (A)/ beggar was knock (B)/ 
down by a bus (C)/ No errror (D)

		  (A)	 No error

		  (B)	 beggar was is knock
		  (C)	 A poor blind
		  (D)	 down a bus

[DSSSB (PRT) 11-11-2019 (f}rh; ikyh)]
	 17.	 (B)	 Part (B) esa knock (V1) dh txg 

knocked (V3) dk iz;ksx gksxk] D;ksafd 
okD; Past Indefinite Tense dk 
Passive Voice gSA bldk Active Voice 
bl izdkj gksxkµ	
		 A bus knocked down a 
poor blind beggar.

		  	 vr% fodYi (B) lgh gSA
	 18.	 Find the part of the given sentence that has 

an error in it. If there is no error, choose 
‘No error’.

		  Now we knows (A)/that the Earth (B)/
goes round the sun (C)/No error (D)

		  (A)	 that the earth
		  (B)	 goes round the sun
		  (C)	 No error
		  (D)	 Now we knows

[DSSSB (PRT) 11-11-2019 (f}rh; ikyh)]
	 18.	 (D)	 Part (D) esa Now we knows dh txg 

Now we know dk iz;ksx gksxk] D;ksafd 
okD; dk subject (drkZ) we, first 
person, plural number dk gS vr% 
verb Hkh plural number dh iz;qDr dh 
tk;sxhA

	 19.	 Find the part of the given sentence that has 
an error in it. If there is no error, choose 
‘No error’.

		  The car (1)/was start (2)/ with great 
difficulty (3)/ No error (4)

		  (A)	 with great difficulty
		  (B)	 No error
		  (C)	 was start
		  (D)	 the car

[DSSSB (PRT) 11-11-2019 (f}rh; ikyh)]

	 19.	 (C)	 Part (C) esa was start dh txg was 
started dk iz;ksx gksxk] D;ksafd start 
(sth) up dk vFkZ gSµdkj] batu vkfn dk 
pykuk 'kq: djuk vFkkZr~ LVkVZ djukA 
vr% fodYi (C) lgh gSA

	 20.	 Find out the error in the following 
sentence, if any. If there is no error you 
answer is ‘D’.

		  I have found the man (A) / whom I know 
(B) / is the thief. (C) / No error (D)

[DSSSB (PRT) 14-11-2018 (r`rh; ikyh)]

	 20.	 (B)	 Part (B) esa ‘whom’ ds LFkku ‘who’ 
dk ç;ksx gksxk] D;ksafd verb ‘is’ ds 
fy, Sub dk dk;Z ‘who’ djsxk u fd 
‘whom’A vr% fodYi (B) lgh gSA
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	 21.	 Choose the sentence that does NOT have 
a mistake in it.

		  (A)	 When we leaving ?
		  (B)	 Vaishnavi is my friend.
		  (C)	 Ravi need to go to the store.
		  (D)	 You see the game last night ?

[DSSSB (PRT) 7-10-2018 (f}rh; ikyh)]
	 21.	 (B)	 fodYi (B) esa ç;qDr sentence lgh gSA 

fodYi (A), (C) rFkk (D) esa verb ls 
lEcfU/kr =qfV;k¡ gSaA vr% fodYi (B) 
lgh gSA

	 22.	 Choose the sentence that does NOT have 
a mistake in it.

		  (A)	 I am from EI Salvador.
		  (B)	 Sukhi love her mom.
		  (C)	 Krishna am nice.
		  (D)	 I need to get new job

[DSSSB (PRT) 7-10-2018 (f}rh; ikyh)]
	 22.	 (A)	 fodYi (A) esa ç;qDr sentence lgh gSA 

fodYi (B) vkSj (C) esa verb rFkk (D) 
esa article ls lEcfU/kr =qfV;k¡ gSaA vr% 
fodYi (A) lgh gSA

	 23.	 Which sentence makes most sense ?
		  (A)	 One should not consume drugs, 

whichever the circumstances.
		  (B)	 One should not consume drugs, 

whenever the circumstances.
		  (C)	 One should not consume drugs, 

whoever the circumstances.
		  (D)	 One should not consume drugs, 

whatever the circumstances.
[DSSSB (PRT) 7-10-2018 (r`rh; ikyh)]

	23.	 (D)	 fodYi (D) esa ç;qDr sentence lgh 
sense nsrk gS] D;ksafd whatever dk 
vFkZ& tks dqN] tks HkhA Whichever - 
tks dksbZ] Whenever - fdlh Hkh le;] 
Whoever - tks dksbZ] O;fDr ds vFkZ esaA

	 24.	 One of the options is a complete sentence  
identify it.

		  (A)	 Bharata Natyam
		  (B)	 The fish in water
		  (C)	 Humans are resilient beings
		  (D)	 Flesh and Blood

[DSSSB (PRT) 7-10-2018 (r`rh; ikyh)]
	24.	 (C)	 fodYi (C) esa ç;qDr sentence vius 

vki esa iw.kZ okD; gSA
	 25.	 Which sentence is most appropriate 

grammatically ?
		  (A)	 I went to the grocer and I bought 

some toffees or I dropped them on 
the way home.

		  (B)	 I went to the grocer but I bought 
some toffees and I dropped them on 
the way home.

		  (C)	 I went to the grocer and I bought 
some toffees but I dropped them on 
the way home.

		  (D)	 I went to the grocer and I bought 
some toffees and I dropped them on 
the way home.

[DSSSB (PRT) 6-10-2018 (izFke ikyh)]
	25.	 (C)	 fodYi (C) e s a  fn;k x;k okD; 

Compound sentence g S tk s  fd 
grammar dh n`f"V ls lgh gSA

			   He worked hard but he did not 
succeed.

	 26.	 One of the options from below is a 
complete sentence, identify it.

		  (A)	 He shut the door
		  (B)	 Bread and butter
		  (C)	 Now and then
		  (D)	 The child in bed

[DSSSB (PRT) 6-10-2018 (izFke ikyh)]
	26.	 (A)	 fodYi (A) esa ç;qDr sentence Lo;a esa 

complete gSA ckdh vU; rhu phrases 
(okD;ka'k) gSaA

			   vr% fodYi (A) lgh gSA
	 27.	 Choose the grammatically correct 

sentence from the below.
		  (A)	 I am going to get five orange, six 

apple and ten peach from the store.
		  (B)	 I gonna get five oranges six apples 

and ten peach at the store.
		  (C)	 I am gonna get five orange, six apple 

and ten peach at the store.
		  (D)	 I am going to get five oranges, six 

apples and ten peaches from the 
store.

[DSSSB (PRT) 10-11-2018]
	 27.	 (D)	 fodYi (D) esa iz;qDr okD; Grammar 

dh n`f"V lgh gSA

Direction (Q. No. 28 and 29)
Choose the sentence which is grammatically 
wrong.

	 28.	 (A)	 The seeds were sowed in the flower 
bed 

	 	 (B)	 Clothes hung from a bracket
		  (C)   The river is swollen with flood
	 	 (D)	 She lied that she had never seen him 

before.
[DSSSB (PRT) 2018]

	 28.	 (C)	 The river is swollen by the flood.
	 29.	 (A)	 The revolver was loaded
	 	 (B)	 The molten lava poured down the 

mountain
		  (C)	 The lawsuit costed me a great deal 

of money
	 	 (D)	 Their numbers have swelled since 

those days
[DSSSB (PRT) 2018]

	 29.	 (C)	 The lawsuit cost me a great deal of 
money. Cost ,d irregular verb gSA

Direction (Q. No. 30 to 32)

The following sentences are divided into four 
parts. One part in each sentence is wrong. You 
have to find it.

	 30.	 Do (A)/ you (B)/ see (C)/ a blue sky?(D)
[DSSSB (Spl.) Edu. Teacher 30-11-2014]

	 30.	 (D)	 ‘a’ ds LFkku ij the dk iz;ksx gksxkA

			   “Do you see the blue sky” ?
			   Blue sky — one of its own kind, i.e., 

unique, So, use ‘the’ before ‘blue 
sky’.

	 31.	 She (A)/ have understood (B)/ me (C)/ 
correctly. (D)

[DSSSB (Spl.) Edu. Teacher 30-11-2014]
	 31.	 (B)	 She → Singular subject So, a 

singular verb is required, i.e., has 
blhfy, ‘have’ dh txg ‘has’ dk iz;ksx 
gksxkA

	 32.	 I (A)/ was (B)/ very happy (C)/ just now. 
(D)

[DSSSB (Spl.) Edu. Teacher 30-11-2014]
	 32.	 (B)	 ‘was’ ds LFkku ij ‘am’ dk iz;ksx gksxk 

D;ksafd okD; present tense esa gSA
			   I am very happy just now.

Direction (Q. No. 33 to 36)

Find out whether there is any grammatical 
error. The error if any will be in one of 
the parts (A), (B) or (C) as marked in the 
sentence. If there is no error, your answer 
is (D).

	 33.	 Myself and Gopalan (A) / will take care 
of (B) / the function on Sunday. (C) / No 
error (D)

[DSSSB (PRT) 2-2-2014]
	 33.	 (A)	 ;gk¡ Gopalan and I dk ç;ksx gksxkA

			   è;ku j[ksa %

			   	 2 +	 3 +	 1
			   	 ↓	 ↓	 ↓
				   Second	 Third	 First
				    Person	 Person	 Person
			   Note : Reflexive Pronoun dk iz;ksx 

Subjective case ds :i esa dHkh ugha 
gksrk gSA

	 34.	 May I (A) / know who you want (B) / to 
see please. (C) / No error (D)

[DSSSB (PRT) 2-2-2014]
	 34.	 (B)	 Whom is used instead of 'who' as 

the object of a verb.
			   Whom did they invite ?
			   vr% ;gk¡ know whom you want dk 

ç;ksx gksxkA ftldk vFkZ gS ^fdldks*A
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	 35.	 A group of friends (A) / want to visit (B) 
/ the new plant as early as possible. (C)/ 
No error (D)

[DSSSB (PRT) 2-2-2014]

	 35.	 (B)	 A group of ,d singular collective 
noun gSA

			   okD; S-S, P-P ds Structure ij vkèkkfjr 
gSA

			   vr% ;gk¡ singular verb ;kuh wants  dk 
ç;ksx gksxkA

	 36.	 On a holiday (A) / Sudha prefers reading 
(B) / than going out visiting friends. (C) 
/ No error (D)

[DSSSB (PRT) 2-2-2014]

	 36.	 (C)	 Prefer ds ckn Noun/Pronoun/Gerund 
vk,] rks ‘to’ dk ç;ksx djuk pkfg,A to 
going out visiting gksxkA

Direction (Q. No. 37 to 40)
	In these questions, some parts of the sentences 
have errors and some have none. Find out 
which part of a sentence (A), (B), (C) has an 
error. If a sentence is free from error choose 

(D) as your answer.
	 37.	 No sooner (A) / had we set out (B) / when 

a thunder storm occurred. (C) / No error 
(D)

[DSSSB (PRT) 30-11-2014]
	 37.	 (C)	 No sooner .... than 'kq¼ connector gSA 

vr% than a thunder storm occurred 
dk ç;ksx gksxkA

	 38.	 The teacher (A) / said the class to open 
(B) / their books at page 40. (C) / No error 
(D)

[DSSSB (PRT) 30-11-2014]
	 38.	 (B)	 ;gk¡ told ;k ordered the class ..... dk 

ç;ksx gksxkA okD; Imperative esa gSA
	 39.	 Neither the USA nor the UK (A) / are the 

largest democracy (B) / in the twentieth 
century. (C) / No error (D)

[DSSSB (PRT) 30-11-2014]
	 39.	 (B)	 Neither .... nor dk ç;ksx djus ij verb 

vius fudVre subject ds Number/
Person ds vuqlkj gksrk gSA vr% ;gk¡ 
is dk ç;ksx gksxk] D;ksafd the UK ,d 
singular number dk Subject gSA

	 40.	 Twelve inches (A) / makes (B) / a foot. 
(C) / No error (D)

[DSSSB (PRT) 30-11-2014]

	 40.	 (D)	 No error

Direction (Q. No. 41 to 43)
Find out which part of a sentence (A), (B) 
or (C) has an error. If there is no error your 
answer is (D)

	 41.	 These all (A) / mangoes (B) / are ripe. (C) 
/ No error (D)

[DSSSB (PRT) 28-12-2014]

	 41.	 (A)	 ;gk¡ position of words laca/kh =qfV gSA 
	vr% ;gk¡ All these dk ç;ksx gksxkA

			   All these mangoes are ripe.
	 42.	 The library members were asked (A) / to 

return back the books (B) / to the library. 
(C) / No error (D)

[DSSSB (PRT) 28-12-2014]
	 42.	 (B)	 Return = bring/give back

			   vr% back dk iz;ksx vuko';d gSA
	 43.	 Each of these girls (A) / play (B) / games. 

(C) / No error (D)
[DSSSB (PRT) 28-12-2014]

	 43.	 (B)	 Each of these girls ,d singular 
subject gSA vr% singular verb ;kuh 
plays dk ç;ksx gksxkA

Previous Years Questions of KVS/NVS Papers
	 1.	 Identify the part of the following sentence 

that has/may have an error :
		  Roses grow   with abundance against this
		      (A)	      (B)

		  old wall	 in this season
		     (C)		   (D)

[KVS (PGT) Exam, 2018]

	 1.	 (B)	 ‘with abundance’ osG LFkku ij in 
abundance dk iz;ksx fd;k tk,xkA

			   In abundance dk vFkZ gksrk gS ^cgqrk;r 
esa*A

	 2.	 In the following sentence, one part may 
have an error. Choose the one which 
has the error, if any : 

		  It is the high time / that we send 

			   (A)		  (B)

		  the answer / to this query.
			   (C)          (D)

[KVS (PRT) Exam, 2018]

	 2.	 (B)	 ;fn okD; dk It is time, It is high 
time, ;k fQj It is about time ls 
vkjEHk gks rks Subject ds i'pkr~ verb 
dh II form dk iz;ksx gksrk gSA

	 3.	 Identify the phrase in the following 
sentence that may be erroneous.

		  The training programme / takes a form of 
			   (A)			   (B)
		  /a series of workshops/
			   (C)
		  for theLDCs and UDCs
			   (D)

[KVS (TGT) Exam, 2018]
	 3.	 (B)	 ‘takes a form of’ ds LFkku ij ‘takes 

place in the form of’ dk iz;ksx fd;k 
tkuk pkfg,A

Direction (Q. No. 4 and 6)
Each of the following sentences has been 
divided into four parts. There is an error in 
one of these parts. Identify the part which 
has the error.
	 4.	 (A) 	 If you want
		  (B)	 to get a first class
		  (C)	 you will have
		  (D)	 to work very hard

[KVS (PRT) Exam, 2017]
	 4.	 (B)	 Ordinal numbers tSls First, second, 

third etc. ls igys definite article dk 
iz;ksx fd;k tkrk gSA blfy, ‘a’ ds 
LFkku ij ‘the’ dk iz;ksx fd;k tk;sxkA

	 5.	 (A) 	An airline pilot
		  (B)	 earns a lot of	
		  (C)	 money in a
		  (D)	 foreign country

[KVS (PRT) Exam, 2017]

	 5.	 (D)	 foreign dk vFkZ gksrk gS fons'k vkSj 
country dk vFkZ gksrk gS ns'kA nksuksa dk 
lkFk esa iz;ksx superfluous gS blfy, 
country 'kCn dk iz;ksx ugha fd;k 
tk;sxkA

	 6.	 (A) 	 I thought

		  (B)	 the children would be

		  (C)	 unhappy about

		  (D)	 clearing out their toys.
[KVS (PRT) Exam, 2017]

	 6.	 (D)	 okD; esa preposition ls lEcfUèkr =qfV 
gSA Clearing out dh txg clearning 
up dk iz;ksx gksrkA vr% fodYi (D) lgh 
gSA

Direction (Q. No. 7 to 9)
Each of the following sentences has been 
divided into four parts. There is an error in 
one of the parts. Identify the part which has 
the error.
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	 7.	 No sooner did / the thief see /
			   (A)	 (B)
		  the policeman when / he ran away
			       (C)	          (D)

[KVS (TGT) Exam, 2017]

	 7.	 (C)	 ‘when’ ds LFkku ij than dk iz;ksx djsaA

			   No sooner ds lkFk ‘than’ dk iz;ksx fd;k 
tkrk gSA

			   Hardly ds lkFk ‘when’ dk iz;ksx fd;k 
tkrk gSA

	 8.	 Ram is / anxious to see / you for the /
		      (A)             (B)	                (C)
		  last one week
		         (D)

[KVS (TGT) Exam, 2017]

	 8.	 (A)	 ‘is’ ds LFkku ij ‘has been’ dk 
iz;ksx djsaA okD; present perfect 
continuous tense esa gS blfy, ‘is’ dk 

iz;ksx xyr gSA

	 9.	 I asked / my father / if I can / take his pen
		     (A)        (B)       (C)          (D)

[KVS (TGT) Exam, 2017]

	 9.	 (C)	 ‘can’ dh txg ‘could’ dk iz;ksx gksxkA 
okD; ds igys Hkkx esa verb dh past 
form  dk iz;ksx fd;k x;k gS] rks nwljs 
Hkkx esa Hkh verb dh past form dk gh 
iz;ksx fd;k tk,xkA

Direction (Q. No. 10 to 12)
Each of the following sentences has been 
divided into four parts : (A), (B), (C) and (D). 
There is an error in one of the parts. Identify 
the part which has the error.

	 10.	 You must go/to my village/and see 
			   (A)	 (B)
		  my property/before you returned.
			   (C)	 (D)

[KVS (TGT) Exam, 2016]

	 10.	 (D)	 ‘returned’ osG LFkku ij ‘return’ dk 
iz;ksx fd;k tk,xkA okD; ‘simple 
present’ tense esa gS rks var esa past 
tense dh verb dk iz;ksx ugha fd;k tk 
ldrkA

	 11.	 There is going/to be a election/of office 
		      (A)	 (B) 
		  bearers/of the cooperative society.
		      (C)	 (D)

[KVS (TGT) Exam, 2016]

	 11.	 (C)	 ‘of’ osG LFkku ij ‘for’ dk iz;ksx djsaA

			   ‘election’ ,d izfØ;k gS ftlosG lkFk ‘for’ 

dk iz;ksx fd;k tkrk gSA tc ‘election’ 
dks ,d uncountable noun dh rjg iz;ksx 
fd;k tk, rks ‘of’ yxk;k tkrk gSA

	 12.	 Just/three minutes before/the train was to 
		  (A)	           (B)		          (C)
		  reach Pantra/she suddenly screeched to a 
				       (D)
		  halt.

[KVS (TGT) Exam, 2016]

	 12.	 (D)	 ‘she’ osG LFkku ij ‘it’ dk iz;ksx fd;k 
tk,xkA Train ,d non-living oLrq gSA

Direction (Q. No. 13 and 14)
Each of the following sentences has an error 
in it. Identify the part which has the error.

	 13.	 I believe / he is capable to handle /
			   (A)	 (B)
		  such a / difficult situation
			   (C)	 (D)

[NVS (PGT) Exam, 2016]

	 13. 	(B)	 Capable to handle ds LFkku ij 
capable of handling dk iz;ksx fd;k 
tk,xkA

	 14.	 You don’t have to look / very far /
			   (A)		  (B)
		  to find the cause for / these problems
			   (C)		  (D)

[NVS (PGT) Exam, 2016]

	 14. 	(B)	 very far ds LFkku ij ‘too far’ dk iz;ksx 
djsaA

Direction (Q. No. 15 and 16)
Each of the following sentences has an error. 
Identify the part which has the error.

	 15.	
( )A

He was / 
( )B

the imaginative child /

		
( )C

and would dream of doing /

		
( )D

great things

[NVS (TGT) Exam, 2016]

	 15. 	(B)	 the ds LFkku ij 'an' dk iz;ksx gksxkA 
'The' ,d definite article gS ftldk 
iz;ksx fuf'pr phtksa ds fy, fd;k tkrk 
gSA

	 16.	
( )A

It was undoubtedly /
( )B

the best of /

		
( )C

the two options /
( )D

given to him

[NVS (TGT) Exam, 2016]

	 16. 	(B)	 best ds LFkku ij 'better' dk iz;ksx gksxk]
nks phtksa dh rqyuk ds fy, better dk gh 

iz;ksx fd;k tkrk gSA tc nks ls vfèkd 
phtksa dh rqyuk djuh gks rc 'Best' dk 
iz;ksx gksrk gSA

Direction (Q. No. 17 and 18)
Choose the word on phrase, which is incorrect 
in standard written English. If there is no 
error, mark your answer as (D).

	 17.	 An Indian ship, laden/with merchandise, 
			                       (A)	              (B) 
		  /got drowned/ in the Pacific. No Error.
			   (C)		              (D)

[KVS (PRT) Exam, 2015]
	 17. 	(C)	 'drown' 'kCn dk iz;ksx thfor bdkb;ksa 

ds fy, fd;k tkrk gSA oLrqvksa ds fy, 
'sink' 'kCn dk iz;ksx fd;k tkrk gSA vr% 
'drowned' dh txg 'sank' dk iz;ksx 
fd;k tk,xkA

	 18.	 After the humiliating exposure,/Nitin 
					     (A)
		  hanged/his head in shame, No Error.
		    (B)		 (C)	         (D)

[KVS (PRT) Exam, 2015]
	 18. 	(B)	 Hung vkSj Hanged nksuksa gh 'Hang' dh 

Past form gSA 'Hanged' dk iz;ksx rc 
fd;k tkrk gS tc fdlh dks yVdkuk gks 
fo'ks"krkSj ij jLlh lsA vU; lHkh txgksa 
ij 'hung' dk iz;ksx fd;k tkrk gSA

Direction (Q. Nos. 19 and 20)
Identify the part of the sentence which has an 
error in it. In case there is no error the answer 
will be (D).

	 19.	 (A)	 Ram has a	 (B)	 large number

		  (C)	 of money	 (D)	No error
[KVS (PRT) Exam, 2010]

	 19. 	(B)	 'number' dh txg 'sum' dk iz;ksx djsaA 
'large' ,d quantitative adjective gS 
vkSj Money uncountable noun gS 
blfy, number dh txg 'sum' dk 
iz;ksx fd;k tkrk gSA

	 20.	 (A)	 I shall not	 (B)	 come to you

		  (C)	 If it will rain	 (D)	No error
[KVS (PRT) Exam, 2010]

	 20. 	(C)	 ;fn possible condition vkSj probable 
result dk okD; gks] rks main clause dks 
simple future esa fy[kk tkrk gS vkSj if 
clause dks simple present esa fy[kk 
tkrk gSA

			   vr% it will rain dh txg it rains dk 
iz;ksx fd;k tk,xkA 
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Important Questions
Direction (Q. No. 1 to 100)

Read each sentence to find out whether there 
is any grammatical error in il. The error if any 
will be in one part of the sentence. The letter 
of that part is the answer. If thire is no error, 
the answer is (D) or (E) i.e. No error. Ignore 
the errors of punctuation, if any.

	 1.	 My friend Bharat (A)/ is one of the best 
tennis player (B)/ in the country. (C)/ No 
error (D).�

	 2.	 The cattles (A)/ are grazing (B)/ in the 
fields. (C)/ No error (D).

	 3.	 People living in low-lying areas (A)/ 
find it difficult (B)/ to cope up with the 
floods. (C)/No error (D).

	 4.	 The paintings of natural sceneries (A)/ 
are selling (B)/  like hot cakes. (C)/ No 
error (D).

	 5.	 Two millions people (A)/ attended the 
meeting (B)/ held in parade grounds. 
(C)/ No error (D).

	 6.	 Speakers after speakers (A)/ came on 
the stage (B)/ to perform. (C)/ No error 
(D).

	 7.	 Two lakhs of people (A)/ attended the 
meeting (B)/ held in parade grounds. 
(C)/ No error (D).

	 8.	 Children enjoy listening to (A)/ ghost 
stories (B)/ especially on Halloween 
night. (C) No error (D).

	 9.	 I like (A)/ the poetries (B)/ of Byron and 
Shelley. (C)/ No error (D).

	 10.	 The sceneries (A)/ of Kashmir (B)/ is 
very charming. (C)/  No error (D).

	 11.	 The beautiful (A)/ surrounding of the 
place (B)/ enchanted me. (C)/ No error 
(D).

	 12.	 Of the billions of stars in the galaxy,  
(A)/ how much are (B)/ suitable for life ? 
(C)/ No error (D).

	 13.	 If you had not been so secretive (A)/ 
you had told me all the fact earlier (B)/ 
I could have helped you. (C)/ No error 
(D).

	 14.	 There is (A)/ no place (B)/ in the 
compartment. (C)/ No error (D).

	 15.	 My uncle forced (A)/ my friend and I 
(B)/ to stay back.(C)/ No error (D).

	 16.	 My sister and myself (A)/ are pleased 
to accept (B)/ your invitation to dinner. 
(C)/  No error (D).

	 17.	 The number of people (A)/ which asked 
for the discount was low (B)/ but grew 
during the summer period. (C)/  No error 
(D).

	 18.	 I and Tina will (A)/ go to the market (B)/ 
in the evening. (C)/  No error (D).

	 19.	 A good friend of (A)/ me has been (B)/ 
in London for twenty years. (C)/ No 
error (D).

	 20.	 You should (A)/ avail of every 
opportunity (B)/ to practise your skill; 
(C)/ No error (D).

	 21.	 It was (A)/ me who telephoned (B)/ the 
fire service. (C)/  No error(D).

	 22.	 Though she appears to be very tall (A)/ 
she is just an inch (B)/ taller than me. 
(C)/  No error (D).

	 23.	 He is a university professor (A)/ but of 
his three sons (B)/ neither has any merit. 
(C)/ No error (D).

	 24.	 When he asked (A)/ why the machines 
(B)/ were idle we told him it was broken. 
(C)/ No error (D).

	 25.	 Neither of the two children (A)/ said 
their prayer (B)/ before going to bed. 
(C)/ No error (D).

	 26.	 Last summer (A)/ he went to his uncle’s 
village (B)/ and he enjoyed very much.
(C)/No error (D).

	 27.	 His salary (A)/is lower (B)/ than a 
caretaker. (C)/ No error (D).

	 28.	 Every woman in the world (A)/ hoped 
(B)/that they would be healthy, (C) No 
error (D).

	 29.	 Our conception of (A)/ what should 
a science of mental life be (B)/has 
changed considerably since James’ time. 
(C)/ No error (D).

	 30.	 The call of the seas (A)/ have always (B)/ 
found an echo in me (C)/ No error (D)

	 31.	 Every boy and every girl (A)/ were given 
(B)/ a packet of sweets. (C)/ No error (D)

	 32.	 Neither the girl nor her parents (A)/ was 
present (B)/ to receive the award. (C)/ 
No error. (D)

	 33.	 Each of these body (A)/ play (B)/ games. 
(C)/ No error (D)

	 34.	 I think (A)/ every one of these men 
are (B)/ incompetent. (C)/ No error 
(D)	

	 35.	 Neither of the two (A)/ candidates have 
(B)/ paid his subscription. (C)/ No error 
(D)

	 36.	 The company have (A)/ thousands of 
customers (B)/ happy with its service. 
(C)/ No error (D)

	 37.	 Most of the critics (A)/ agree that this is 
one of (B)/ the best novels that has (C)/ 
appeared in recent years. (D)/ No error 
(E).�

	 38.	 Economic independence (A)/ and 
education (B)/ has made (C)/ women 
more assertive. (D)/ No error (E)

	 39.	 He is (A)/ one of those students (B)/ who 
comes late regularly. (C)/ No error (D).

	 40.	 I am going to buy (A)/ a computer (B)/ 
as the prices comes down (C)/ No error 
(D)

	 41.	 The Prime Minister along with his 
cabinet colleague (A)/ have been 
welcomed by the Chief Minister (B)/ at 
a formal ceremony (C)/ No error (D)

	 42.	 Everybody (A)/ it must be admitted (B)/ 
has their ups and downs. (C)/ No error 
(D)

	 43.	 Neither of them (A)/ send their papers 
(B)/ in time for the last seminar (C)/ No 
error/ (D)

	 44.	 Do you know that it was I (A)/ who has 
done (B)/ this piece of beautiful work ? 
(C)/ No error (D)

	 45.	 Nine tenths (A)/ of the pillar (B)/ have 
rotted away (C)/ No error (D)

	 46.	 The whole block of flats (A)/ including 
two shop (B)/ was destroyed in fire (C)/ 
No error (D)

	 47.	 A variety of pleasant items (A)/ in the 
shop please (B)/ everybody (C)/ No error 
(D)

	 48.	 One of my desires (A)/ are to become 
(B)/ a doctor (C)/ No error. (D)

	 49.	 A hot and (A)/ a cold spring (B)/ was 
found near each other. (C)/ No error. (D)

	 50.	 Either of the roads (A)/ lead (B)/ to the 
institute (C)/ No error. (D)
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	 51.	 Thirty five kilometres (A)/ from Patna 
to Ranchi (B)/ are a long (C)/ distance. 
(D)/ No error.

	 52.	 There is (A)/ only one of his novels (B)/ 
that are interesting (C)/ No error. (D)

	 53.	 Knowledge of (A)/ at least two languages 
(B)/ are required to pass the examination. 
(C)/ No error. (D)

	 54.	 In most of the states (A)/ forty percent 
of people under thirty years (B)/ is 
undernourished. (C)/ No error (D)

	 55.	 Mango, the most unique fruit (A)/ is 
available in India (B)/ in plenty. (C)/No 
error (D)

	 56.	 How much (A)/ horse were (B)/ there 
running in the last race? (C)/ No error 
(D). 

	 57.	 This watch is superior (A)/ and more 
expensive (B)/ than that one. (C)/ No 
error (D).

	 58.	 We can decide it (A)/ only after (B)/ 
farther investigation. (C)/ No error (D).

	 59.	 The Hindu is (A)/ most popular than any 
other (B)/ newspaper in India. (C)/ No 
error (D).

	 60.	 Every scientific invention (A)/ has proved 
(B)/much harmful to society than benefi-
cial (C)/No error (D).

	 61.	 His son (A)/ is working (B)/ very hardly. 
(C)/ No error (D).

	 62.	 Ramesh was (A)/ senior to (B)/ Suresh 
in college. (C)/No error (D).

	 63.	 The Railways have made (A)/crossing 
the tracks (B)/a punished offence. (C)/
No error (D).

	 64.	 It is high time (A)/ he stood on his own 
(B)/two legs. (C)/ No error (D).

	 65.	 It is all the more better (A)/ for you to take 
the examination (B)/than to withdraw 
your form. (C)/No error (D).

	 66.	 He is sorry because (A)/his all books (B)/
are lost. (C)/No error (D).

	 67.	 More than three times (A)/as many people 
came (B)/ than has been expected. (C)/
No error (D).

	 68.	 Anish is clever (A)/than any other (B)/
person in this company. (C)/ No error (D).

	 69.	 I like to drink coffee (A)/but he prefers 
(B)/ tea than coffee. (C)/No error (D).

	 70.	 We swam up to the drowning man, 

caught hold of his clothes (A)/before he 
could go down again (B)/and pulled him 
out safe to the shore (C)/No error (D).�

	 71.	 Meena was so tired (A)/ that she could 
not hardly (B)/talk to the guests for a 
few minutes (C)/ No error (D).

	 72.	 The teacher (A)/reviewed and corrected 
the answer (B)/in a systematical way 
(C)/No error (D).

	 73.	 He is (A)/ too foolish (B)/ that he will 
not act. (C)/No error (D)	

	 74.	 He is too much worried (A)/ about his 
friend's reaction (B)/to his statement. 
(C)/ No error (D).

	 75.	 If we work (A)/ slow and steady (B)/ we 
can finish by noon. (C)/ No error (D)

	 76.	 We had scarcely (A) reached the place, 
(B)/than it started to rain heavily (C)/No 
error (D)

	 77.	 There were (A)/hardly no trees left (B)/
Just bare rocky land. (C)/No error (D)

	 78.	 This happened (A)/ just exactly (B)/five 
years ago. (C)/ No error (D)

	 79.	 No sooner (A)/I had spoken (B)/than he 
left (C)/No error (D)

	 80.	 When I lived in England (A)/it was 
natural for me (B)/to speak a lot of 
English. (C)/No error (D)

	 81.	 He comes always (A)/ first in his 
class (B)/due to his extra logic(C)/and 
reasoning ability(D)/ No error. (E)

	 82.	 Our team(A)/will be tomorrow here for 
the(B)/ net practice (C)/No error (D).

	 83.	 Is the room(A)/enough large to(B) 
accommodate twenty boys of our 
school(C)/No error(D).

	 84.	 Handle (A)/ the glass jug (B)/ with 
carefulness (C)/ It is very costly (D)/ No 
error. (E)

	 85.	 The students were (A)/ awaiting for (B)/ 
the arrival of the chief guest. (C)/ No 
error (D)

	 86.	 People who live on (A)/ glass houses (B)/ 
should not throw stones (C)/ No error (D)

	 87.	 My friend (A)/ has invited me (B)/ for 
tea this sunday. (C)/ No error (D)

	 88.	 Smoking is undoubtedly (A)/ very 
injurious (B)/ for health. (C)/ No error 
(D)

	 89.	 Have trust on (A)/ God and everything 
(B)/ will be right. (C)/ No error (D)

	 90.	 You can (A)/ open the box (B)/ by a 
screwdriver. (C)/ No error (D)

	 91.	 If you repeat this mistake (A)/ I will 
inform to your father (B)/ and do not 
blame me then (C)/ No error (D)

	 92.	 I (A)/ have been studying (B)/ since four 
hours. (C)/ No error (D)

	 93.	 The number of foreign workers (A)/ that 
are allowed to enter (B)/ Malaysia has 
increased (C)/ No error (D)

	 94.	 I insisted (A)/ on his going (B)/ there 
immediately. (C)/ No error (D)

	 95.	 Abhay has lots of friends (A)/ beside his 
roommate (B)/ in the hotel (C)/ No error 
(D)

	 96.	 I went there (A)/ From a view to 
surveying (B)/ the entire procedure. (C)/ 
No error (D)

	 97.	 He laughed (A)/ on her (B)/ as she fell 
off the tree. (C)/ No error (D)

	 98.	 I sat down opposite him (A)/ and 
produced (B)/ the packet of cigarettes. 
(C)/ No error (D)

	 99.	 Citizens can not affrod (A)/ to take the 
law (B)/ out of their hands. (C)/ No error 
(D)

	100.	 The relatives of the deceased (A)/ 
threatened to avenge (B)/ his death. (C)/ 
No error (D)

Solutions
	 1.	 (B)	 ‘player’ dh txg ‘players’ gksxkA

	 2.	 (A)	 ‘The cattles’ dh txg ‘The cattle’ 
gksxk] D;ksafd cattle [kqn plural gSA

	 3.	 (C)	 ‘floods’ dh txg ‘flood’ gksxkA

	 4.	 (A)	 ‘sceneries’ dh txg ‘scenes’ gksxkA

	 5.	 (A)	 ‘Two millions people’ dh txg 
‘Two million people’ gksxkA

	 6.	 (A)	 ‘Speakers after speakers’ dh txg 
‘speaker after speaker’.

	 7.	 (A)	 ‘Two lakhs of people’ ds LFkku 
ij ‘Two lakh people’ gksxk] D;ksafd 
dozen, hundred, lakh, score vkfn ds 
igys tc fuf'pr la[;k lwpd (one, 
two, three, etc.) 'kCn gksrk gS rks budk 
singular form iz;ksx fd;k tkrk gSA

	 8.	 (B)	 ‘ghost stories’ dh txg ‘ghosts 
stories’ gksxkA
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	 9.	 (B)	 ‘poetries’ dh txg ‘poems’ ;k 
‘poetry’ gksxkA

	 10.	 (A)	 ‘The sceneries’ dh txg ‘The 
scenery’ gksxk] D;ksafd ‘scenery’ 
Uncountable Noun gSA

	 11.	 (B)	 ‘surrounding’ ds LFkku ij 
‘surroundings’ gksxkA

	 12.	 (B)	 ‘how much are’ dh txg ‘how 
many are’ gksxkA

	 13.	 (B)	 ‘all the fact’ dh txg ‘all the facts’ 
gksxkA

	 14.	 (B)	 ‘place’ dh txg ‘room’ gksxk] D;ksafd 
train, bus, car, ship, aeroplane, etc. 
esa ^LFkku* dk cks/k djkus ds fy, place 
dk iz;ksx ugha fd;k tkrk gS] cfYd 
room dk iz;ksx fd;k tkrk gSA

	 15.	 (B)	 ‘I’ dh txg ‘me’ gksxkA

	 16.	 (A)	 ‘myself’ dh txg ‘I’ gksxkA

	 17.	 (B)	 ‘which’ dh txg relative pronoun  
	 ‘who’ gksxkA

	 18.	 (A)	 ‘Tina and I will’ gksxkA (igys II  
	 person fQj I person)

	 19.	 (B)	 ‘me’ dh txg ‘mine’ gksxk] D;ksafd

		  NOTE

A/An + SCN + of + Possessive 
Pronoun dk vFkZ gksrk gS % ‘One of many’

		  NOTE

Example :
He is a friend of me.� (×)
He is a friend of mine.� (√)

bldk vFkZ gksrk gS He is one of my 
friends.

	 20.	 (B)	 ‘avail of every opportunity’ dh txg 
‘avail yourself of every opportunity’ 
gksxkA

	 21.	 (B)	 ‘me who telephoned’ dh txg ‘I who 
telephoned’ gksxkA

	 22.	 (C)	 ‘taller than me’ dh txg ‘taller than  
	 I’ gksxkA

	 23.	 (C)	 ‘neither’ dh txg ‘none’ gksxkA

	 24.	 (C)	 ‘it was broken’ dh txg ‘they were 
broken’ gksxk] D;ksafd pronoun ‘it’ 
‘machines’ ds fy, iz;qDr gS vr% it 
dh txg ‘they’ gksxkA

	 25.	 (B)	 ‘their’ dh txg ‘its’ ;k ‘his’ dk iz;ksx  
	 gksxkA

	 26.	 (C)	 ‘enjoyed’ ds ckn Reflexive Pronoun 
‘himself’ dk iz;ksx gksxkA

	 27.	 (C)	 ‘than a caretaker’ dh txg ‘than that 

of a caretaker’ gksxkA Li"V gS fd ;gk¡ 
mldh salary dh rqyuk ,d caretaker 
dh salary ls dh x;h gS] D;ksafd rqyuk 
ges'kk nks leku oLrqvksa/O;fDr;ksa ds chp 
dh tkrh gSA

	 28.	 (C)	 ‘that they would be healthy’ dh txg 
‘that she would be healthy’ gksxk] 
D;ksafd every woman singular noun 
gS] vr% blds fy, singular pronoun 
dk iz;ksx fd;k tk;sxkA lkFk gh lkFk] 
bldk iz;ksx clause ds subject ds :i 
esa gqvk gS] vr% ;gk¡ Nominative case 
(she) dk iz;ksx fd;k tk;sxkA

	 29.	 (B)	 ‘what should a science of mental 
life be’ dh txg ‘what the science 
of mental life should be’ gksxk] D;ksafd 
Interrogative Pronoun dk iz;k sx 
Indirect Speech esa gksus ij blds ckn 
igys Subject dk iz;ksx fd;k tkrk gS] 
mlds ckn verb dkA

	 30.	 (B)	 have ds LFkku ij has dk iz;ksx 
gksxk] D;kasfd ;gk¡ subject ‘The call’ 
singular gSA

	 31.	 (B)	 ‘were’ dh txg ‘was’ gksxk] D;ksafd 
each/every ds lkFk singular verb dk 
iz;ksx gksrk gSA

	 32.	 (B)	 ‘was’ dh txg ‘were’ gksxk] D;ksafd 
conjunction either-or/neither-nor 
ds case esa verb ckn okys subject ls 
agree djrk gS vFkkZr~ her parents 
subject ckn esa vk;k gS rks verb blh 
subject ds vuqlkj gksxhA

	 33.	 (B)	 ‘play’ dh txg ‘plays’ ;k ‘has 
played’ gksxk] D;ksafd each ds lkFk 
singular verb use gksxhA vr% plays 
;k has played (present perfect, third 
person, singular ds vuqlkj gksxkA

	 34.	 (B)	 ‘are’ ds LFkku ij ‘is’ gksxk] D;ksafd 
Åij Hkh crk;k x;k gS fd everyone, 
anyone, no one, none, everybody, 
anybody/anything vkfn ds lkFk 
singular verb dk use gksrk gSA

	 35.	 (B)	 ‘have’ ds LFkku ij ‘has’ gksxk] D;ksafd 
neither of the two dk vFkZ gS nksuksa esa 
ls ,d Hkh ughaA vr% ;gk¡ singular verb 
dk iz;ksx gksxkA

	 36.	 (A)	 ‘have’ ds LFkku ij ‘has’ gksxk] D;ksafd 
company ,d single unit gSA vr% ;gk¡ 
singular verb dk iz;ksx gksxkA

	 37.	 (C)	 ‘that has’ ds LFkku ij ‘that have’ 
gksxk] D;ksafd verb ‘novels’ ds vuqlkj 
yxsxkA

	 38.	 (C)	 ‘has’ ds LFkku ij ‘have’ gk sxk] 
D;ksafd Economic independence vkSj 
education nks fHkUu&fHkUu subjects gSa 
vr% plural verb yxsxhA

	 39.	 (C)	 ‘who comes’ ds LFkku ij ‘who 
come’ gksxk] D;ksafd ;s verb ‘students’ 
ds vuqlkj yxsxhA og mu lHkh Nk=ksa 
esa ls ,d gS tks late vkrs gSaA

	 40.	 (C)	 ‘comes’ ds LFkku ij ‘come’ ;k ‘have 
come’ gksxkA ;gk¡ verb prices (plural) 
ds vuqlkj yxsxhA

	 41.	 (B)	 ‘have’ ds LFkku ij ‘has’ vk;sxkA tc 
Hkh along with, together with, as 
well as, with vkfn dk iz;ksx gksrk gS 
rks verb igys subject ds vuqlkj (The 
Prime Minister Singular) yxsxhA

	 42.	 (C)	 ‘their’ ds LFkku ij ‘his’ dk iz;ksx gksxkA

	 43.	 (A)	 Neither of them dk vFkZ gS muesa 
ls dksbZ (,d) Hkh ughaA blfy;s ;gk¡ 
singular verb dk iz;ksx gksxkA

	 44.	 (B)	 ‘has’ ds LFkku ij ‘have’ gksxkA ;gk¡ 
drkZ ‘I’ gS vkSj I ds lkFk has ugha have 
dk iz;ksx gksxkA

	 45.	 (C)	 ‘have’ ds LFkku ij ‘has’ gksxkA eki@
ek=k crkus okys phrases ds lkFk ;fn 
countable nouns gksaxs rks verb plural 
gksxh] vU;Fkk singular gksxhA ;gk¡ pillar 
dk Nine tenths gS ftls fxuk ugha tk 
ldrk] dsoy ekik tk ldrk gSA vr% 
verb singular jgsxhA

	 46.	 (D)	 No error.
	 47.	 (B)	 Verb ‘please’ (Plural) ds LFkku ij 

‘pleases’ (Singular) gksxk] D;ks afd 
okD; dk eq[; Subject ‘A variety’ gS 
tks fd Singular Number esa gSA

	 48.	 (B)	 ‘are’ ds LFkku ij ‘is’ gksxk] D;ksafd cgqr 
lh desires esa ls ,d desire singular 
number dks show djrh gSA

	 49.	 (C)	 ‘was’ ds LFkku ij ‘were’ gksxkA ;gk¡ 
spring nks izdkj ds gSa] a hot spring 
and a cold springA vr% plural 
number ds fy;s plural verb iz;qDr 
gksxhA

	 50.	 (B)	 ‘lead’ ds LFkku ij ‘leads’ gksxk] D;ksafd 
;gk¡ ̂ nksuksa esa ls dksbZ ,d road’ bl vFkZ 
ls verb singular gksxh] plural ughaA

	 51.	 (C)	 ‘are’ ds LFkku ij ‘is’ gksxkA nwjh] otu] 
ek=k vkfn fn[kkus okys 'kCnksa ds ckn 
;fn verb adjective + noun dk iz;ksx 
gks rks verb singular gksrk gSA
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	 52.	 (D)	 No error.
	 53.	 (C)	 ‘are’ ds LFkku ij ‘is’ gksxk] D;ksafd ;gk¡ 

verb ‘knowledge’ ds according use 
gksxhA

	 54.	 (C)	 ‘is’ ds LFkku ij ‘are’ gksxk] D;ksafd 
percent + of + plural noun ds case 
esa verb Hkh plural gksxhA

	 55.	 (A)	 'unique' dk Superlative iz;ksx ugha 
gksxkA vr% 'the most unique' dh txg 
'a unique' gksxkA

	 56.	 (A)	 'How much' dh txg 'How many' 
gksxkA

	 57.	 (A)	 'this watch is superior' dh txg 'this 
watch is superior to' gksxkA

	 58.	 (C)	 'farther' dh txg 'further' gksxkA

	 59.	 (B)	 'most popular' dh txg 'more popu-
lar' gksxkA

	 60.	 (C)	 'much harmful' dh txg 'more harm-
ful' gksxkA

	 61.	 (C)	 'very hardly' dh txg 'very hard' 
gksxkA

	 62.	 (D)	No error 
	 63.	 (C)	 'a punished offence' dh txg 'a 

punishable offence' gksxkA

	 64.	 (C)	 'two' dk iz;ksx ugha gksxkA

	 65.	 (A)	more dk iz;ksx ugha gksxk] D;ksafd better 
[kqn comparative degree esa gSA

	 66.	 (B)	 'his all books' dh txg 'all his books' 
gksxk] D;ksafd 'all + determiner + Noun' 
lgh structure gksrk gSA

			   The all money	 ()
			   All the money	 ()
			   My all students	 ()
			   All my students	 ()

	 67.	 (C)	 'than' dh txg 'as' dk iz;ksx gksxkA

	 68.	 (A)	 'clever' dh txg 'cleverer' gksxk] D;ksafd 

okD; Comparative degree osG Struc-
ture e' ds LFkku ij large, enough' 
fy[ksaxsA

	 84.	 (C)	 with carefulness ds LF k ku ij 

carefully fy[ksaxsA

	 85.	 (B)	 'waiting for' gksxk] D;ksafd awaiting 
sb/sth = to wait for sb/sth gksrk gSA

	 86.	 (A)	 'on' dh txg 'in' gksxkA

	 87.	 (C)	 'for tea' dh txg 'to tea' gksxkA

	 88.	 (C)	 'for' dh txg 'to' gksxkA

	 89.	 (A)	 'on' dh txg 'in' gksxkA

	 90.	 (C)	 'by' dh txg 'with' gksxkA

	 91.	 (B)	 'inform to your father' dh txg 
'inform your father' gksxk] inform osG 
ckn lh/kk object dk iz;ksx gksxk blosG 
lkFk to dk iz;ksx ugha gksxkA

	 92.	 (C)	 'since' dh txg 'for' gksxkA

	 93.	 (B)	 'to enter' dh txg 'to enter into' gksxkA

	 94.	 (D)	 okD; lgh gSA

	 95.	 (B)	 'beside' dh txg 'besides' gksxkA

	 96.	 (B)	 'from' dh txg 'with' gksxkA

	 97.	 (B)	 'on' dh txg 'at' gksxkA

	 98.	 (A)	 'opposite him' dh txg 'opposite to 
him' gksxkA

	 99.	 (C)	 'out of their hands' dh txg 'into their 
hands' gksxkA

	100.	 (D)	 okD; lgh gSA

			   Examples :
			   Avenge ,d verb gS tcfd Revenge 

,d Noun gSA
			   She vowed to revenge her brother's 

death.	 (×)
			   She vowed to avenge her brother's 

death.	 (√)

			   You take revenge on a person lgh 
Phrase gSA
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